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(1) Ra~R6R X IR AR
R2~ROIZIE#EE | = HIf x |BMEEOREEHHE = R~ROEGBRTRN x MEE -+ FAEFR + HEHMN
251,076,000 = 5% X 50,215,200 = 588 42,700 +  10% = 5%
(2) RI~RIIREBEBIRILE
RI~RITIZHEMEE | = #IRS RI~RUEERFRS x  #MEE -+ FEFE - FHEHH
444,080,000 = 5% 1,040 42,700 + 10% - 54
(3) RI2~RI6HEFFEIRHER
R12~R1642 x |BEEOREEBE = RI2~RIGHRTHN x MEE + JEF - HEHH
x 114,436,000 = 1,340 42,700 +  10% = 5%
x [HEEOREEBE = RIT~2AERTAL x  HEE + JER - HEHE
x = 1,320 X 42700 -+ 10% + 5%
R22~R26% x |HEEORBEBE - R2~26EHBTAH x HHEE -+ FER - HEHE
359,534,000 54 x 71,906,800 = 842 X 42700 -+ 10% + 5%

(6) REXBIRORE
RIERER =

2,190,510,000 =

R2~R6IZHLILEE  +
251,076,000 +

R7~RI1iZ #1248
444,080,000 +

+ RI2~RIGIRHE#%E + RI7T~R21ZH#%EE + R22~R26IZ{EKEE
572,180,000 +

563,640,000 + 359,534,000
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(1) SERORBEEHIRIE
= B x |BEEORBERESE| - seMoERTNH x  WBEE - FER - HEM
= 5 X 87,620,400 = 1,026 X 42700 +  10% + 5%
() REEBRIRE
Rt = SERIOREKME x HEOSKLRM
= 438,102,000 x 54



